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Foundations of Algebra Unit 2~ Relationships Among Quantifies Review

Name: Dato:

slope Intercept Form - Graphing a Line REVIEW
In 8" grade, you leamed about slope and slope intercept form in order to graph lines. Today,
d S b 0 8 we will be doing a mini review.
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Name: ote:

Day 8 - Identifying Constraints and Inferpreting Solutions

‘Constraints in Decision Making - Lamy's Labor Day Bash ‘Consirints in Decision Making - Befh's
Lany s planning @ huge Labor Day party that he does every year for his fiends and family. He has Belh's ol a stre having a6l o purses. Tno b e o ing o $20 cch, and fhe small
$100 e aside fo spend on food for fhe parly. He s ying fo decide how many pounds of chicken purses are going for $10 each. She has 380 1o spend.
10 buy and how many steaks 1o buy. The chicken sellsfor $2.a pound, while the steoks selor $5
per steak. 1) Wit an equation using 2 variables fo represent Beth's purchasing decision. Define your
o ’ b » N o variables. b = number of big purses s = number of small purses
ite on equation Lsing 2 variables fo represent Larry's purchasing decision. Define your
o e << number of siecks 20b+ 10s = B0

) m hcw many stedks he can buy if he gefs 20 pounds of chicken.
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Solve your equation for small purses, s, in ferms of the number of big purses, b.

3)

Graph the equation you just came up wilh in problem #2.

—t.\»)b_ob—

How many big purses can she get if she buys 3 small purses?

How many small purses can she buy if she buys 2 big purses?

Isit possible for her 1o buy 3 of each kind of purse?

Sep 12-2:05 PM Sep 12-2:06 PM

Tuesday, September 18th, 2018

Rewrite the equation in slope intercept form.

DT o Convert the following to slope-intercept form
and identify the slope and y-intercept.
2x + 4y =-24 -5x - 3y =-12
3) Gr+y=—5 4 x+yp=3

Sep 17-7:53 AM Sep 16-11:56 AM
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Foundations of Algetra Unit 2~ Relationships Among Quantities

Notes

Day 9 - Metric Conversions

Metric Conversion: Stair-Step Method

The 3 base units are :

The Metric System of measurement is based on mulfiples of

The 6 prefixes are:

To convert 1o a larger unit, move
decimal pointto the letor dvide.
-—

To use fne Stair-Step method, you wil move the
you have fo move on the stairs.

To convert to a smalie unit, move
decimal point to the right o multply.

the direction

Wiite the equivalent measurements:

1. 5dm= m 6 75mL= KL
2 2mi= L 7. 65m= cm
3. 3820kg= cg 8 2007mg= 9
4 03km= cm 9. 480cm= akm
hg 10, 2500 6L = [
[ — Tomewar
Day 9 - Converting Metric Units Cross Number
T g g g
174[-]5
a G
> 0 0
B 5 T
s
e 17
s 0 EEl
22
B
Give
Across Down decimal
Wiite Write points a full
1 1450cminm 0.121inml square.

1

4 37mmincm 2 0048 minmm

2.8 cmin mm 3 52cminmm

0.048 lin ml 4 039kminm
5
8
9

No

10 0707kging 0074kging

12 s64cminm 805kging
14 7.35mincm 3460 min km
15 31.421incl 10 7400 clin|
16 9090 ginkg 1 770inmi

18 0026 kminm 12 510mmincm
19 4100mlin 13 62cminmm
20 3.4cminmm 15 3.425kging
22 0.523kging 16 9870 miin|
23 7070 mmin m 17 0932kging

21 43mincm
22 56cminmm

Sep 12-2:08 PM

Solve each inequality and graph its solution.
1) —6(-9+x)>0

15) 0>-10(-3 + ) X7
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10
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September 17, 2018

Foundations of Algebra Unit 2-Relationships Among Quornfifies Notes

Compare the measurements using <, >, or =. **SHOW YOUR WORK**

N.o&em__ 6m 15 1s00mL__ 151
12, 3mg____5g 16 79 698mg

13 59 508mg 17. 536cm 53.6dm
14 36m 36cm 18 LIAL____ 1100kl

Answer the following questions using metric conversions.

19. One cereal bar has a mass of 37 g. What is the mass of 6 cereal bars? Is that
more or less than 1 kg Explain your answer.

20. Wanda needs fo move 110 kg of rocks. She can carry 10 hg each frip. How
meny iips must she make?

21. Or. s playing in her garden again. She needs 1 kg of potting soil for her plants
She has 750 g. How much more does she need?

22. Willa fablecloth that s 155 cm long cover a fable that is 1.6 m long? Explain.

23. A dollar billis 15.6 cm long. If 200 dollar bills were laid end fo end, how many
meters long would fhe line be?

24. The celing in Jan's living room is 2.5 m high. She has @ hanging lamp hat hangs
dor cm. Her husband is exactly 2 m fall. Will he hit his head on the hanging
lamp? Why or why notz

Sep 12-2:07 PM

Foundations of Algcbra Narme D: 1

Sub Work Date Period__

Solve each equation.

N 2 8646)--2
s

4y -38=2(x-10)

b
Ho-142
) 8

74h 10) 4(5+n)=72

9) 5=

B AT Keie Sufieare LUC AN Eubie 1e e g ML v e Aere s

Sep 12-2:11 PM

Thursday, September 19th, 2018

Convert.
1a. 39cm = mm 1b. 10dm = m
2a. 8.6km = hm 2b. 30dm = m
3a. 90dm = m 3b. 4hm = dm

Sep 12-2:11 PM

Sep 16-11:56 AM
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Foundations of Algebra Unit 2 - Relationships Among Quaniities Classwork
Name: Date:

Day 10 - Metric Conversions and Applications Practice

Answer the following quesfions using mefric conversions.
1. Sallyis on the Al-City frack feam and has fo run the 100-mefer dash. How many deka-
meters wil she run2

Each year, the New York City Marathon which is 42 km, is run by thousands of people.
If you and two fiiends go run the marathon, how many meters will all three of you run?

3. Arecipe for shorforead cookies cals for § grams of butler lo make 12 cookies. How
many deci-grams will there be in 40 cookies:

Write the equivalent measurements:

km 7.580dL=____ hL
L 8. 150m= cm
6. 58dkg = cg 9.920cg

Compare the measurements using <, >, or =. **SHOW YOUR WORK**

10, 880 cm 9m 13. 75g 7.5dkg
1. 5020mg 5g 14, 445 cm __ 0.0445 dkm
12 1500hL 150 1s. 27k 221 dkL

Sep 12-2:12 PM

Agebra unit 2 s Practice
Name: Dale:

Day 10 - Applications of Metric Conversions

Answer the following questions using metric conversions.

1. There s ojor o fne cabinet by he effigeralor. Sovarinah pou 208 millers o warer i th for
six fimes to fil i, how many lters of water does i fake o fil the jor?

2. Eric's father asked an engineer 1o survey the field house behind their house. He wanted fo
plant some apple and pear frees there. According 1o fhe survey, the field s 38 mefers long
and 17 mefers wide. What is the perimeter of the field in kiomelerse

3. We have new guestin our house. He is 0.54 mefers long ond weighs 4.1 kg. He is our new
Puppy. The veterinarian said he should gain about 136 grams per week. At fhat rafe, how.
much, in kiograms, willhe weigh n 3 months.

4. Ther i 321 milliters of soup. Brillany
Dores 8 o0 1 o 0wt How oy Het o soup e e vt

5. Brandon looked at the 10 fiter jug of Gruesome Green soda sadly. He had bet his friend that he
‘could drink all of i and new he was sure his stomach would explode if he drank one more

I
milliter. He had alieady drunk 3700 millters. How much was left in fhe jug. i fters?

Sep 12-2:13 PM

September 17, 2018

F Algebra Unit Quanities Classwork

Answer the following questions using mehic conversions.

16.5usan's car has a 40 iter gas fank. If it takes four fanks of gas fo go to Florida and
back, will she have enough gas i she can only afford fo buy 2 hecto-liters?

17. Five year old Michelle weighs 75 deka-grams. What is her weight in cenfi-grams?

18.The doctor told Cheryl fo dink 4 liters of water a day. After 7 days, how many milliters
of water did Cheryl dink? If she has to dink a minimum of 80,000 militers before she
can parficipate in sports, how many days should it fake?

19.Nick s on the Hilgrove cross-country team and has fo run a & km race.
How many deka-mefers will he run?

20. One energy bar has a mass of 85 6. What s fhe mass of 12 energy bas? s that more
arless thon 1 kg

Sep 12-2:13 PM

Nome: Day 10 - More Metric Conversions Practice,
—_—— e — — — — _— e
51 600 30 58 320 58 75 75 88 32 6700 326
!
58 67 897 730 58 6700 73 75 897 8 75

Work out the missing number for each question and then wite the correct lefter above each number in fhe above box.
The fist question has been completed.

Wiite: M 7500clinl

A 3200miinl =321

N 67linml
B g97mlincl

o 870mlin
E 00s8linml

R 7500miin
G 326linc

s 320mlincl
H  e7mlincl

T 32clinm
1 sl00mlint

U 73mlinel
L 073linm

W 5800miini

Friday, September 20th, 2018

There is a jar on the cabinet by the refrigerator.

six times to fill it, how many deciliters of water does \
it take to fill the jare

Sep 16-11:56 AM

Sep 12-2:14 PM

Name: Date:

Unit 2B Quiz #1 Review

Constraints in Declsion Making - Lany's Labor Day Bash
Lany i planning @ huge Labor Day parly hat he does every year for his friends and family. He hos
$100 sef aside fo spend on food for the pary. He i frying 1o decide how many pounds of chicken fo
buy and how many steaks fo buy. The chicken sells for $2 a pound, while the steaks sellfor $10 per
steak.

1) Wiite an equation sing 2 variables to represent Larry's purchasing decision. Define your variables.
@ = pounds of chicken s = number of steal

2) Use your equation fo figure out how many steaks he can buy If he gefs 25 pounds of chicken.

3) How many pounds of chicken can he get if he buys 8 steaks?

4) Solve your equation for steaks, 5, in ferms of the pounds of chicken, c.

5) Graph the equation you just came up with in problem #4.

6) Find the minimum and maximum pounds of chicken he can buy. Write your answer as an
inequaliity in fems of ., Ihe pounds of chicken.

7) Find the minimum ond maximum number of sleaks he can buy. Wiile your answer s an inequailly
In terms of s, the number of steaks.

Sep 12-2:15 PM
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Unit 2:Rel

Convert the following to Slope Intercept Form and Identify the Slope and Y-Intercept.

Sx+2y=10

b=

—ax+ oy =24

10x—3y =18

Metric

Convert 5dm fo m

Convert 75 mL o kL.

Convert 2mL fo L

Convert 6.5m fo cm

Converi 38.2 dkg 10 og

Converl 2007 mg o g

Convert .05 km to cm

Convert 6035 mg fo hg

willshe run

18. Michelle weighs 71.7 deka-grams. What is her weight in centi-grams?

20. Sally is on the All-City track team and has fo run the 400-meter dash. How many deka-mefers
?

Sep 12-2:16 PM
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